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Notes: 1.  All questions are compulsory.
2. All questions carry equal marks.
1. What is social problem? Highlight various problems in India. 8
OR

Define economy and compare all three economics.

2. What is the concept of semi-development? Explain developed and semi-developed 8
concepts.

OR

What is Financial Planning, consult Indian Financial planning.

3. Write short answers. 8
a) Problems of Indian Agriculture.

b) Characteristics of socialist economy.

OR
c) Agricultural labor problems.
d) Define mixed economy.
4. Write short answers. 8
a) Causes of prostitution.
b) Define corruption.
OR

c) Define economics.

d) Explain the relationship between economics and social work.

5. Write very short answers. 8
a) Two characteristics of mixed economy.
b) Definition of capitalist economy.
c) Definition of self employment.

d) Contribution of agriculture sector to national income.
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